Answer Key: Sample Question Paper -1

MATHEMATICS (Science)

(Qn. Scoring indicators Split up | Sub | Total)
No. score |total
1. a) 1) A={-2.-1,0,1,2} Y
B={1,2,3,6) ol
i) A-B ={2,-1,0} 1
AmB =1{12} 1 2
b) n(AuB) = n(A)+n(B)-n(AnB) 1
= 140
n (A'~B) = n(U)-nr(AUB) 1
= 60 2 ]
2. a) AxB |
b) R={(7.6).(8 7)) 2 2
c) (i) R 1
(ii) [1, 00) 1
(@) [-3.3] 1 E] §)
3. a) sinB= % 1 1
5 (7x-;—5:c} ms[?x;ix}
b) 2 [7x+5x] Sin[?x—Sx] L 3
2 2
= :J:,\ =cotx 1 2
1/
. S
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(Qn. Scoring indicators Split up [ Sub [Total)
No. score |total
ZLAPQ =45, Z/BPH = 30-,
ZAPB = 15°, ZABP = 150° y
From AAPQ AP?=h+ B =2/
AP= 2 h 4
For formula
AB AP d  Zh
a1 | sl 7 mals | snlset 1
o Jz_!'!sinﬂwo .
sin 30 Yol
= B (\/§ _1) y 3 6
4. P (n): x* =y~ is divisible by x —y
a) P(l)=x-yisdivisibleby x -y 1 I
b)  Assume P (k) is true
P (k). xF— y*is divisible by x - y %
Consider x** 1 — 3571 = xF  x —xfy +afy — Yoy 1
= -+ E—35 y
= whichis divisible by x* —)* A
AP+ 1)istrue forallm e N 4 3 4
3l a) - 1 1
b) l—i = r(cosB+isin0) A
r= 51 = &3 y |2
7 cosE = 1] J2 sinB=-1
. = L
cosB = B sin 9 N
0o=2=x -/;
4 /2
1-i = 3 (cos ?Hsin% A
c) #—-x+2=0 Yy
a=1, b=-1, ¢c=12 7
s 1+ 1-4x1x2
T "
quf'—";':li -7 }ﬁ ) 5
2 2 -
\ J
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Qn. Scoring indicators Split up | Sub |Total)
No. score (total
6. a) =5 B Ox—=1 4
2x = 4
2x < 4
x <2 A 1
b) \ 10
Y
1
17
--6
T5
14
13
..2
A o5 o .
3 2 -10 —ll i 5
E:
t —3
Y
7. a) 4 -31=18 1 1
b) 6! x2! 2 2
6 WA w0+ i, B
= 10x 5+ 10x 10+ 5x 10 =200 1 3 6
OR
a) 10 1 1
b) 4x3x2x2=48 1
¢} W x%, +7C ¥, 1 2
=21 x28+7 x 56=980 1 3 6
8. a) (n+ 1)"term 1 1
b] Tr e - 2nCn (l);‘u —n g
o QuCnxn /Ié
_ (@)t ‘
T
Pl
[1.35...2n-D][24.6..2m)].x "
\_ nin! s J
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(Qn. Scoring indicators Split up | Sub |Total)
No. score [total
[1357..2a-D)]2"nts" i
s e
_ 1.357..2n-1)2" x 1 3 4
it
9. | a) a=-> 1 I
B 6
b) a+b = 10 1
2
Jab = 8
at+h =20
ab = 64
a-b= +12 1 2
a=4 b=16 or a=16 b=4
g B oty o5 1+1 |2 | s
4 WL +
10. a) |x| 1 1
b) 4x+3y+k =0 1
3
k= -6 17
4x+3y-6 =0 74 2
¢) x+2y-3+k(dx-y+7=0 1
(l+4k)x+2-kp+(-3+7k)=0
1+ 4k
Slope = = 1
Slope of parallel line = __!'5
2
e £
7
I5x+ 12y-7=0 | 3 6
11. i) Herea= 3, b=4 1
o= JE =5
Co-ordinates of foei (+3,0) 1
Co-ordinates of vertices are (£3, 0)
e=£=3 1
2
latus rectum = 22 = ::2' 1 4
a 3
% >
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(Qn. Scoring indicators Split up [ Sub | Total)
No. score |total
12. 1 (2,3.-4) 1 1

- MXy U, HIVat WY, mEy g )
]1) m+n ’ - n ’ M+ n 11/2
[ -6 849 12+15)
-, . Y 2
5 i 5 ’2
412 :
575" 5
| :
1%.| # =1 I 1
3 lim . _ lm
) S-S =, atbx
=a+b 4
lim lim
st X =iy b—aw=b-—a Y 1
at+b =1
b—a= 12b=2 b=1 A
a=10 pla
1) y=tanx
dy _ lim f(x+b-7(x) 1
e h—0 b
lim tan{x+ &) — tan x ”
=0 h )
lim 1 [ sinfx+/) _ sinx »
R0 2\ coste+ i cosx /2
lim 1 [ sim(x+ /) cos x—cos(x+ h)ysin x) -
T =0 h cos (x + A1) cos x /2
_ lim sinh lim 1
T ho0 T s 0 eog (et ) cos x
= Q. - o
= —— =geclx L 3 6
CcO8 x o
OR
1) na-! 1 1
lim ¢ -1 lim -1
o) s "3 = 3. .50 |
3x 3x
=3'1=3 1A
S tan x (1 —sin x) = (x + cos x) sec’ x g
m) ad B : }/2
dx fan” x
fan x = tan x sin x = (x + cos x) sec’ x "
= T 3 6
tan x
\ (For formula give 1) )
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(Qn. Scoring indicators Split up | Sub Total )
No. score |total
14, 1) If the number isnot divisible by 5 then itis not
divisible by 10 1 1
i) xyer
We have to prove x and y are not odd integers then
xy is not an odd integer 1
Le.x=2n y=2n 1
xy = (2n) (2n) 1 3 4
= 4n’ is an even integer
- . o . =& 16+40 + 90 + 80 + 60
15, 1) X = L =
N 26
o e ff 2 |2
26
x L H X x,
o 4 16 16 64
8 5 40 64 320
10 9 9 100 900
16 5 80 256 1280
20 3 400 1200
26 286 3764 1
| 1 2
g = 5 \J‘N(EJ;} }f)—(r}f;) or
S
- 1 — 1
= (%x 3764 — (11) l 2
= 14476 — 121 = 2376 =4.87
i) cvV = 2 x100 Y
= 2
= 4 %100 = 4427 7 I
16. i) 2* 1 1
.. . : 30
u) P (selectionof NCC) = i
. = 32
P (selection of NSS) = —
60
: 24
P (NCC or NSS) = 1
a) P(AUB) = P(A)+P(B)-P(AnB) Y
. J
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(Qn. Scoring indicators Split up | Sub [Total)
No. score |total
30 32 24 19
6l 60 60 30
b) P(A'~B)=P(AUB) = 1-P(AUB) y
B 9 _ 1 "
= 1- 0 30 1 4 3
. /
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